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Unit — XIII
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It is said [prt,3p,s] (3 V&) this (soul
[m,N,s] (37&) (is) un-manifest [ppp,m,N,s]
(3AeTh: V3TF) this [m,N,s] (3TF) (is)
unimaginable [m,N,s] (3©=:) this [m,N,s]
(37™) (is) immutable [m,N,s] (3Tfaa®r:) |
Therefore [m,Ab,s] (FFHIY) having recognized
[ger] (Tafeen i) this [m,A,s] (TF) as such
(thus) [I] (W) (you do) not [I] () deserve
[prt,2p,s] (TR V3T) to grieve [inf] (343@'&@:[\
V) |

The verbal root 313 belongs the 7™ U | The
passive past participle is 3 - made clear. The
IuE g changes the meaning to manifest.

Finally the negation through o[ d{eUHHIYH
makes it (3&®) un-manifest!
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And [I] (F) further [I] (3A¥) (if) you think
[prt,2p,s] (=99 VA this [m,A,s] (TF) (to be
a) perpetually born entity [m,A,s] (&™) or
I](_OTT) to be eternally [I] (ﬁ?q) dead
ppp,m,A,s] (Jd V) even so [I] (F&MT) you
N,s] () (a great hero) mighty armed one
m,V,s] CEEIHD) (do) not [I] () deserve
[prt,2p,s] (S®R V3&) to grieve [inf] (AMFETH
V=) thus[l] (T) |
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Notice the agaﬁ% compound - HElHg it refers
to Arjuna the mighty armed one! The

interpretation is context based. This is true in
English as well. Observe the following two
sentences:

I met a black widow at the church.
I found a black widow under a pile of rocks.

In the 1 sentence we are talking about a
widow who happens to be black - d{%¥ | In
the 2" sentence we are referring to a type of

deadly spider - agaﬁfs' |
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Indeed [I] (€) death [m,N,s] (F:) is firm
[m,N,s] (4d:) for one who is born [m,G,s]
(SIdAA) and [I] () birth [n,N,s] () is
certain [n,N,s] (ga) for one who is dead
[m,G,s] (Jd™) | Therefore [m,Ab,s] (m)
in pursuit [m,L,s] (31) of the inevitable
[m,L,s] (3TREE) you [N,s] (&) (do) not [I]
(77) deserve [prt,2p,s] (agﬁ:[ \/34_'6?) to bemoan
[Inf] (I V=) |
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Oh Arjuna (scion of Bharatas) [m,V,s] (¥RA)
beings [n,N,p] (YdM) have unmanifest
[ppp.n,N,p] ( 3B V3%) beginnings [n,N,p]
(3MEH) have manifest [ppp,n,N,p] (FHEI)




middle [n,N,p] (A¥A1M) have unmanifest
[ppp,n,N,p] (SFHBIT) endings [n,N,p] (¥
A) indeed[I] (TH). There (then) [I] (T)
what [f,N,s] (1) lament [f,N,s] (IR<aT icq) |

ITHEIM o TR o STIDBHEAN are

a@'ﬂ% compounds. They were split (fowrg)

for the translation.
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Some (person] []* (ﬁiﬂﬂ) sees [prt,3p,s]
(q'?'qﬁ \/?QT) this [m,A,s] (1) with wonder
(W?Fjﬁﬂ) and [I] () thus [I] (TAT) also
[I] (W) another [rn N,s] (379:) speaks
[prt,3p,s] (et \/aﬁ) with wonder [I]
(@n%%ﬁaq) and [I] (&) another [m,N,s] ()
hears [prt,3p,s] ('Qluhﬁ V%) this [m,A,s] (TF)
with wonder [I] (W?Fﬁaﬂ) | And [I] (F) even
I] () having heard [ger] (Z[A) this
[m,A,s] (TF) no one [|* (7 ﬁ%ﬂ\) knows (it)
[pt,3p,s] (a'q’ \/1%@) indeed [1] (TE) |

*Wr%ﬂ\is h: %R‘L | The underlying °h: is [m,N,s]
- the '&R'L makes % indefinite.
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Oh Arjuna (scion of Bharatas) [m,V,s] ( 9d)
this [m,N,s] (3Tq) atman (embodied) [m,N,s]
(é_‘iﬁ) in the body [m,L,s] (é%) of everyone
[m,G,s] (TE=T) s eternally [I] (f1ed)
indestructible [m,N,s] (3d&:) | Therefore
[m,Ab,s] () you [N,s] (7&) (do) not [I]
() deserve [prt,2p,s] (C‘;léﬁzf \/34—%) to bemoan
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[Inf] (SMFEGH VI all (any) [n,A,p] (FEIO)
beings [n,A p] (%Tﬁ) Il

A aed | foRfagrer |
Yifg geresdis—ad & | formd 1321

@ ft = eaed forfiog =1 o1 | e
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Considering [ger] (3@ \/_SQ&D even [I] (31T)
one's own duty [m,A,s] (Waﬁ) (you do) not
[1] () deserve [prt,2p,s] (3R V3T) to
shiver [inf] (TRFIG V&™) | Nothing [I]
(1) other [n,N,s] (3Tq) better [n,N,s] (57%:)
of a Kshatriya [m,G,s] (&) indeed [1]
(1%) than (fighting) a just [n,Ab,s] ( )
war [n,Ab,s] (SIQ) is known [prt,3p,s] (
NEON

In the above verses, the idiomatic "you do not

deserve to grieve” etc. means "you should not
grieve” etc.

JE=od Aqe TRIGRATAH |
qita: &b e oY eHEed 13RI
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And [I] (d) Oh Arjuna (son of Prtha) [m,V,s]
('EIT%f) | Happy [m,N,p] (gF@H) (are the)
Kshyatriyas [m,N,p] ( :) (who) encounter
[prt,3p.p] (Y= V&Y) this type [n,A,s]
(g@ﬂ) (of) war [n,A,s] ('ﬂ@) by good fortune
[f,1,s] (FE€=SAT) (which is an) outcome
[ppp,n,A,s] (U9 \ILCK) (that is) the open
[ppp.n,A,s] (3T m) gate of heaven
n,A,s] (FHER) Il

31 = e e HUW 9w |
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If [1] (FQ) then [1] (37) you [N,s] () will
not [I] (7T) carry out [ft,2p,s] (RR=atg V)




this [m,A,s] (?{q) noble [m,A,s] (?‘T‘:"j) fight
[m,A,s] (99TH ) then (1] (qd:) having
abandoned [ger] (& V&) one’s own duty
[m,A,s] (Wufl) and[I] () fame [f,A,s] (ﬁﬁ)
you will incur [ft,2p,s] ( ST V) sin
n,A,s] (A9) Il

Notice the formation of the future tense of
o — HRAE o 3 4+ I — FNEAG | the
former is ¥&_while the latter is 3:|ﬁ_¢: | The
tense marker is ¥ |

R ddd: - Expositions / Glosses

=R ?‘J'lﬂqfﬁ\'_d: — Verbal Derivatives
R—R—-R HA«l: — Desideratives

Consider the following two sentences:

ora1: qecens diog g=ofd | R qedes fuaissid
The two sentences mean exactly the same -
The student wishes or desires to read the book!
In the 1*' instance an infinitive is used for the
action desired and a finite verb is used to
express the desire. In the second sentence the
verb is modified to indicate the desire to do
the action. This modified verb (verbal
derivative) is therefore called desiderative or
conveying desire for the action. The U of the
desiderative is the same as that of the original
Hlq | Desiderative stems are formed for most

verbs.
R—%—%—-2 Y[-d{HAT - Desiderative
construction

The construction of the Desiderative derivative
verbal stem involves reduplication - S¥H
optional § (E_J\GT a?f\) and the marker ¥ which
becomes¥ after any vowel other than 31 | Ywhen
preceded by ch 9l 5] becomes & | In reduplication
the vowels mostly change to | These are the
main rules but we will not delve into all the sub-
rules. Here are some examples of verbal roots
and desiderative stems:
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T - fomfe |7 - T | oS - foee 1w

- fourg | 9y - Seifey | T - gYE | g9
- 74 | % - foRi | 71 - Wi

You can see the variations! However, the key
to identification of the desiderative is
reduplication followed by § which changes
to @ o1 & as dictated by 99 rules. ﬁ?{\
terminations of ¥, VL, (';Id\ﬁﬂ I?OS; may be
directly added to the stem. The ﬁ’i‘f\is always
the periphrastic perfect and the future is @<
(32) |

Nouns are also freely formed from the
desiderative stems by adding 3 (E) or 3l
('5ﬁ') | The sense of the noun then is he/she
who is desirous of doing the action. It can also

mean who is about to undertake the action.
e - 4981 - 9988 | I - o - ooy |
fost - foifcrer — fofqen | I - I - G2
3-3 9HEIM: - Compounds

3—%-3 5§ HHE:

The §6 (SYIUE UHM) compound is rather

straightforward. Both (or all) members of the

compound have equal importance. The closest
pseudo-example in English would be sugar'n
spice - meaning sugar and spice. Here the "and”
is merely abbreviated, whereas in Sanskrit the
"and” is completely lost as well as the favfe
YA of the former member(s.) Furthermore
any number of nouns that would otherwise
be connected by the conjunction @ may be
compounded! Examples:

TH: I BHT: I — TASEAU | TH: T SLH:
T WA: I G I — THSKHIWAG!: |

qE 9 3@ ¥ - gEg™ |

e = far = — wrarfia o el |

In the above examples, the constituent
members are separate (saiaI §%5) and the



gender of the compund is determined by the
gender of the last member. The number is dual
or plural depending on the number of
members. Occasionally, a compound is
abbreviated by retaining only one member
(W) - ﬁﬁﬁ | When the constituent
membrs are taken collectively or they denote
certain naturally related objects, it is called
HHIBN g5 and the compound is always neuter,
singular. Examples:

U eIy Wihed, | 99 9 3% |9 -
qug:EH | b = o = - Thiced () |
¥ ﬁﬁm - Verbs / Conjugation

¥-3 2 Hypothetical

This is rare conjugation and unique to Sanskrit.

This describes two dependent events where
the non-occurrence of one results in the non-
occurrence of the other! An example will
suffice:

g efasdmer giamafeaq - gaf: =q
aﬂﬁr&m\ﬁ‘q’l -ﬁﬁq&:f m | (Should good
rains fail, then a good harvest will fail.) The
conjugation of @S, completely follows the
conjugation @< of except the terminations are
of ®_ (including the prefix) rather than that

of B | Y — Ao (%) — A (TE) |
Exercises:

1. Do HE o fo0rg | Identify the subclass of
the &g |

U UM MY STHY THES | JomdET |
TEHER] | gHigemHET: | T =9 gy
(TTH) | 49g gy (THIN) | O
(THIN) | Wid o S 9 RN TERR: |

FdlRAH | T SIRSAE |

2. Replace the desiderative with the infinitive
plus a finite verb.

Wd: T fearfd | ore: Ak foraienfa |
TARRSR | SFT: <F Ieng: I

3. Identify the underlying €llq |

focte | fomen | et | S 1 e
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Sanskrit Crossword #13

(One syllable per box)

Clues Across:

1 Sound

4 Leaf

5 The seat at Sringeri

6 finger nail (born of the hand)

8 3" person, singular f’ﬁ?.: of T 1

10 Mongoose - A Pandaval!

11  An assemblage - an ornament
12 Skillful or beautiful - fem.

13 Subtle as in a type of foram |

Clues Down:

2 Night wanderer
3 Liberal
4 Worth reading - a must read.
6 Noise (onomatopoeic word)
7 Community - people's place
8 Water creature
9 Snowy mountain
R R 3 ¥
N
& 9 ¢ ?
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Solutionsto Exercises from Unit -12

1. UGN a9 TS | 9 4 High
(ieeh) HicemR | STER S | el
T Tidar: | 3l W fosiend gareE: |
S AT | TH: TE g

2. Solution to crossword # 12
HY | ¥ IR | Y AGTEE | & BRE |
¢ JMFH | Lo AE | 22 URMT | ¢ TGS |
3 Fa Il X IRER | 3 HUR | ¥ ST |
g T | © BT | ¢ 3ReH |  WRISA




